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Monthly averaged wind velocity by MF radar at Tromsoe for February 2020

North East

Sun Sep 13 13:05:22 2020
plot_mf_month_ave_year.pro

mean sigma = 20.150

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 22.462

0    4    8    12    16    20    0
-100

-50

0

50

100

103km

mean sigma = 20.013

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 22.295

0    4    8    12    16    20    0
-100

-50

0

50

100

100km

mean sigma = 19.832

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 20.892

0    4    8    12    16    20    0
-100

-50

0

50

100

97km

mean sigma = 20.622

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 21.669

0    4    8    12    16    20    0
-100

-50

0

50

100

94km

mean sigma = 18.893

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 19.031

0    4    8    12    16    20    0
-100

-50

0

50

100

91km

mean sigma = 17.863

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 18.627

0    4    8    12    16    20    0
-100

-50

0

50

100

88km

mean sigma = 17.357

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 19.374

0    4    8    12    16    20    0
-100

-50

0

50

100

85km



mean sigma = 16.151

0    4    8    12    16    20    0
-100

-50

0

50

100
mean sigma = 15.864

0    4    8    12    16    20    0
-100

-50

0

50

100

82km

Monthly averaged wind velocity by MF radar at Tromsoe for February 2020
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